Roll No. ! ‘ ‘ ‘ ‘ 1 J Answer Sheet No.

Sig. of Candidate. Sig. of Invigilator.

MATHEMATICS HSSC-II
SECTION — A (Marks 20)

Time allowed: 25 Minutes

NOTE:- Section—A is compulsory and comprises pages 1-2. All parts of this section are to be answered
on the question paper itself. It should be completed in the first 25 minutes and handed over to the
Centre Superintendent. Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Insert the correct optioni.e. A/ B/ C /D in the empty box provided opposite
each part. Each part carries one mark.

Y
X .
i lim|1+—= is equal to:
0 (i3] e ]
A. e B. e’
e e% D. e']/‘:
(ii) sin hix —cos h'x = . lj
A. cosh2x B. —cosh2x
C. 1 D. =]
(i) f(x)=ax®+2bx+c has minimum value if: {:i
A. a>0 B. a<0
o a> l D. a< L
2 2
) 2x* +5x+7
v lim ———=
™) et 3xt+x-1 I:j
A 0 B. o
2
C. A D. None of these
w 4 LLT _
dx Jx ] Ej
1 1
A 1+— B. |-—
+ x] xl
1 1
(3 l-— D [ —
Dyt \/;
oy Jmsde= ]
l 2.
A 1 (Inx)
X 2
C. xlnx-x D. xlnx+x
(vii) F(x)=sin"'x , then f'(0)is equal to:
A g [
C. -1 D. e
|
(viil) ‘xl s
: [
1 3 5 7
= B. = C. = D —
B 2 2 2 2
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DO NOT WRITE ANYTHING HERE

R
A a* Ina’ B. -
Ina2
Ci gt D None of these
(x) Point of intersection of angle bisectors of a triangle is:
A Centroid B Incentre
C. Orthocentre D. Circumcentre
(xi) (0, 0) is one solution of an inequality:
A, x-Ty<2 B. 2x+5y > 1
C. S5x+3y>0 ) D. x+4y>5
(xii) Distance of a point (5, 2) from Y-axis is:
A. 5 B. V29 c. 2 D None of these
(xiii) Slope of aline 2x+3y+4=0 is:
A. 2 B 3 6 -3 D -4
(xiv) Radius ofacircle x> +y* +dx-2y—-1=0:
A. V2 B. 2 C. s D V6
(xv)  Equation of directirix of parabola y* =-8x:
A x=2 B. x=-2 €. wp=2 D y=-2
: 5 ; #2 o s
(xvi)  Vertices of an ellipse —+=_-=1Is:
0 25
A (0., £3) B. (0, £5) C.(#3.0) D. (#5,0)
xl yl
(xvii)  Foci of hyperbola T 5 1 are:
A. (£3, 0) B. (24, 3)
& (£5, 0) D. None of these
(xviil)  jxi.2j=
A 0 B. 2 c -2 D.  None of these
(xix) F=2i-5j-7k and d =i+ j+k,then torque is:
A 11i—d;—Tk B. 115/ +6k
c —1li+4;+7k D. None of these
(xx) i{sec ! —} =
dx 2
A : CR— -
x f_ - xvx -4
2V 4
1 2
C. D e
xV4-x? .\’\/,r' -4
For Examiner’s use only:
Total Marks:
Marks Obtained:
—— 2HA-0908(L) —
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MATHEMATICS HSSC-II

Time allowed: 2:35 Hours Total Marks Sections B and C: 80

NOTE:- Sections ‘B’ and ‘C’ comprise pages 1-2 and questions therein are to be answered on the
separately provided answer book. Answer any ten parts from Section ‘B’ and attempt any five
questions from Section ‘C’. Use supplementary answer sheet i.e. Sheet-B if required. Write your
answers neatly and legibly.

SECTION - B (Marks 40)

Q.2 Attemptany TEN parts. All parts carry equal marks. (10x4=40)

()  Evaluate limw
60 sin” @

tanx sinx

is even or odd function.

(i) Determine whether f(x)=

@iy If tany(l1+tanx)=1-tanx, then prove that Y _ -1
X

V) If y=ln(x+\/x2+1),find£}i

dx

(v  Showthat y=x' has a minimum value at x= )/

(vi)  Use differential to find approximate value of sec32"

(vii) Evaluate [x*Inx dx

(viii)  Find area region bounded by y =cos % from -z to r.

(ix)  Find an equation of a parabola with focus (-3, 1) and directrix x=3

(x) Find an equation of an ellipse with vertices (0, +5) and eccentricity :%

(xi)  Derive standard equation of hyperbola.

(xii)  Find value of # such that the points 4(4, 1), B(2, 7) and C(-6, -7)

are vertices of a right triangle with right angle at the vertex 4.
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Q (xiii)  Find an equation of the line through (5, —8) and perpendicular to
the join of 4 =(-15, —8) and B(10, 7).
(xiv) Use vectors to prove that in triangle 48C,

c=acosB+bcosA

SECTION — C (Marks 40)

Note:- Attempt any FIVE questions. All questions carry equal marks.
(5x8=40)

L

Q.3 Provethat lim & = log, a

x=0 X

Q4 If y= (cos’l x)2 , prove that (1 —xz)y2 -xy,—-2=0

Q.5 Evaluate J+/9+25x dx

Q. 6 Find orthocentre of a triangle whose vertices are (-2, 3). #( 4. 1) and |

Q.7 Minimize z=2x+y, subjectto the constraints:

x+y=23, Tx+5y<35, x>20; y=20

Q. 8 Find an equation of a circle passing through 4(3, —1). B(0. 1) and having

centre at 4x—-3y=3

Q.9 A force of magnitude 6 unites acting parallelto 2i -2, +k displaces the

point of application from (1, 2, 3) to (5, 3, 7). Find the work done.
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